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F N 3 ~ # ®
g H&ﬁ & W}E § HRERAER [k @ P e
T17] 11,787] 11,490] r297)
B 14 & E#R # 691 (59,607) 59,618 (50,298) 50,305 (9,309) 9,313
21] 11,170] 1944 1226
OB 15 & E#R 3 519 (44,984) 44,987 (39,878) 39,880 (5,105) 5,107
120 11,752] 11,539] r213]
OB 16 & El#R 3 468 (49,152) 49,155 (43,535) 43537 (5,616) 5618
I52] 15,461) 14,885) 1576
OB 11 & E#R # 226 (22,423) 22,425 (18,521) 18,521 (3,903) 3,004
134) 18,078] 16,970] 11,108]
T R 18 £ [ER B 391 (33,922 33,925 (25,765) 25,766 (8,157) 8,159
& % 288 (29,459) 29,462 (21,400) 21,401 (8,060) 8,061
ot % - - - -
iR >4 - - - -
#® ] % - - - -
i &l 104 (4,463) 4,463 (4,365) 4,365 (97) 98
oy r42) r32) [IEN]
=123 LS # 60 (2,292) 2,292 (2,292) 2,292 -
E % = - = -
;“!ﬁ >4 = - = -
R % = - = -
# B >4 = - = -
il % 60 (2,292) 2,292 (2,292) 2,292 -
(£X) [ # - - - -
& >4 = - = -
o % = - = -
iR >4 = - = -
#® ] % = - = -
& % = - - -
roJ r5) M4, My
B noo | # - - - -
E % = - = -
# >4 = - = -
R % = - = -
# B % = - = -
fE % = - = -
oy r43) r33) r10y
T [ # - - - -
& % = - = -
o % = - = -
iR >4 = - = -
#® ] % = - = -
i % o - = -
2] 1530 1488} r42)
=>4 o % 128 (15,447) 15,449 (11,408) 11,408 (4,040) 4,041
= % 128 (15,411) 15,412 (11,378) 11,378 (4,033) 4,034
# >3 = - = -
R % = - = -
# B % = - - -
] % 0 (36) 36 (30) 30 @)
EFILE 5F (8 # - - - -
& >4 = - = -
i % = - = -
iR % = - = -
#® ] % = - = -
i % o - = -
M1] 1389] 389
ZRELER T Bl 48 (2,667) 2,667 (2,438) 2,439 (229) 229
= % 6 611) 611 (473) 473 (138) 138
o % = - = -
R % = - = -
# B >3 = - - -
il % 42 (2,057) 2,057 (1,966) 1,966 (91) 91
(R#) [ # - - - -
& >3 = - = -
o % = - = -
iR >3 = - - -
#® ] % = - = -
i % o - = -
ZhEPER T El 119 (10,127) 10,128 (6,418) 6,419 (3,709) 3,709
E % 119 (10,127) 10,128 (6,418) 6,419 (3,709) 3,709
o % = - = -
R % = - = -
# B % = - = -
& % - D) 1 0 (0




B (1 ha, #1E:.m°)

3 . [ -~ 2 i
zi Miﬁ & H_;E % RERF =R [ ® 5% JU— r_—
2:45) S # - - - -
= % = - = -
# % = - = -
R % = - = -
# B >4 = - = -
] % = - = -
M1 14,186 13,614] r572]
EFEE [ # - - - -
& >4 = - = -
i % = - = -
iR >4 = - = -
#® ] % = - = -
i % = - - -
GEE) noo | # - - - -
= % = - = -
o >3 = - = -
R % = - = -
# B >3 = - - -
fE % = - = -
roJ M) M) roJ
EFHALE = |6 # - - - -
& >4 = - = -
o % = - = -
iR >4 = - = -
#® ] % = - = -
i % = - = -
=y no | # - - - -
E % = - = -
# >4 = - = -
R % = - = -
# /B >3 = - - -
fE % = - = -
RARE A (8 # - - - -
& >3 = - = -
i % = - = -
iR >3 = - - -
#® ] % = - = -
i % = - - -
(L/NBHZ) noo | # - - - -
E % = - = -
o >4 = - = -
R % = - = -
# B >4 = - = -
fE % = - = -
KR [ # - - - -
& % = - = -
i % = - = -
R >3 = - - -
#® ] % = - = -
i % = - - -
3] 395] r69 [325]
U T Bl 24 (2,525) 2,525 (2,464) 2,464 (61) 61
= % 24 (2,525) 2,525 (2,464) 2,464 (61) 61
- >3 = - = -
R % = - = -
# B >3 = - - -
fE % = - = -
G&iR) S # 10 (526) 526 (480) 480 (46) 46
& >4 10 (526) 526 (480) 480 (46) 46
ot % = - = -
R % = - = -
#® ] % = - = -
i % = - = -
7] 12,477 12,329 1148
2R [ Bl 3 (337) 338 (265) 265 (73) 73
= % 2 (260) 260 (188) 188 (73) 73
;“sﬁ >3 = - = -
R % = - = -
# I >3 = - - -
fE % 1 @an 77 @an 77 -




B (1 ha, #1E:.m°)

3 . [ -~ 2 i
§§ Miﬁ & H_;E % RERF =R [ - JU— o=
EN Wi |# 2 - - - -
= % = - = =
# % = - = =
R % = - = =
# B >4 = - = =
] % = - = =
Lz " # - - - -
& % = - = =
o % = - = =
iR % = - = =
#® ] % = - = =
i % o - = =
(&E) no | # - - - -
E % = - = =
o >4 = - = =
R % = - = =
# B >4 = - = =
fE % = - = =
BB " “ # - - - -
& % = - = =
i % = - = =
iR % = - = =
#® ] % = - = =
F % o - = =
2] 1630} 568 63
RAIFES R (B Bl 188 (17,739) 17,741 (13,700) 13,700 (4,040) 4,041
= % 128 (15,411) 15,412 (11,378) 11,378 (4,033) 4,034
# % - - - -
R % - - - -
# B >4 - - - -
il % 61 (2,328) 2,328 (2,322) 2,322 (1) 7
22] 14,576] 14,003] r572]
F=EET # 166 (12,795) 12,796 (8,857) 8,857 (3,938) 3,938
& >4 124 (10,737) 10,739 (6,891) 6,891 (3,847) 3,847
o % - - - -
iR >4 - - - -
#® ] % - - - -
il % 42 (2,057) 2,057 (1,966) 1,966 (91) 91
oy [N [N o]
= |4 % - - . z
E % - - - -
fsﬁ >4 - - - -
R % - - - -
# B >4 - - - -
fE % - - - -
r9) 12,871) 12,398] r473)
#E | # 37 (3,388) 3,388 (3,208) 3,208 (180) 180
& >4 36 (3,311) 3,311 (3,131) 3,131 (180) 180
o % - - - -
iR % - - - -
#® ] % - - - -
il % 1 an 77 an 77 -
Wi |# # - - - -
E % - - - -
fsﬁ >4 - - - -
R % - - - -
# B % - - - -
% - - - -
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